H & 0l & AHS B Ml A

0248 =g 1 3 dita tsusu
A HSuSw
M =Xg WSuUsSHA #=
el Hsns XA (SH9 H2)
SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
H=snsH 14,346,424 12,972,924 1,373,500
= 619,300 621,500 22,200
z 225,000 225,000 0
< 1,890,726 1,890,726 0
Al 11,611,398 10,235,698 1,375,700
SXE WSUSHA #= 14,009,924 12,972,324 1,037,600
= 619,300 621,500 22,200
z 225,000 225,000 0
< 1,890,726 1,890,726 0
Al 11,274,898 10,235,098 1,039,800
Hsws 38X 14,009,924 12,972,324 1,037,600
= 619,300 621,500 22,200
= 225,000 225,000 0
< 1,890,726 1,890,726 0
Al 11,274,898 10,235,098 1,039,800
AUHHAESHIXIA 3,283,500 2,583,500 700,000
307 2IZto1 ™ 3,283,500 2,583,500 700,000
09 2=FAHELS 3,283,500 2,583,500 700,000
OIS 10083 A Ar
& 2,191,000,0002 *14] 2,191,000 1,491,000 700,000
Hsns 243 63,600 63,000 24,400
= 31,800 34,000 22,200
Al 31,800 34,000 22,200
308 AXIMS0IA 63,600 68,000 24,400
= 31,800 34,000 22,200
Al 31,800 34,000 22,200
183 S| 2SS AEAIE 63,600 68,000 24,400
OogsusSoitte 29
Z& 21,600,000 *14] 21,600 26,000 24,400
= 10,800 13,000 22,200
Al 10,800 13,000 22,200
SEAM o8 Bx3 342,000 0 342,000
307 2Ito1d 342,000 0 342,000
0 2=EAHEXS 342,000 0 342,000
ORFM HSEX3(HA)
38,000,000 x9& 342,000 0 342,000
HY2HHH(HSS) 2,400 600 1,800
Jl2Zdsl(tisnsn) 2,400 600 1,800
Jl2ddl(iEnsu) 2,400 600 1,800
203 HR2=&H] 2,400 600 1,800
M RFA2HLRFEI 2,400 600 1,800
OUsuUEYN FA2E =TI
250, 0002 *9F +80f% 1,800 1,800
HREs(snsw) 334,100 334,100
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swsn

¥ Hegs(Usnsh)
E2l: tHRAHHXIS (S S (CHe: )
A -3 - GRA(3) - ARAY - BES Ofl &4 I3 ] ImE=r",
WEHHXIE(HSRSD) 334,100 0 334,100
WSANSSESH M 334,100 0 334,100
701 JIEtRIHNSHES 334,100 0 334,100
01 It AN ES 334,100 0 334,100
OogetelH N2 d&= 334,100 0 334,100
-A0LE SN AIAE 2R-HAF L0
Wol S(ZNEZAl SHAY)
164,100,000 * 14! 164,100 0 164,100
-ADIE HAZREY R (2ENEZA =
M) 60,000,000& * 14| 60,000 0 60,000
“AUHA s28 A8 2 JAl2
90,000,000& » 14 90,000 0 90,000
-MaBA S s3F d=E dE Jhl
5,000,000 *4H 2= 20,000 0 20,000




